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Number pairs to 10, 20 and 100: addition

orevious scor * * & * Sk %k
T+?2=10 2+7?=20 100=90 + 7
3+7=10 20=7+ 16 ? + 40 =100
10+7?=10 20=1+7 20 + 7?7 =100
?+6=10 11 +7?=20 60 + ? = 100
10=7+7 13+7?7=20 100=30+"7
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Number pairs to 10, 20 and 100: subtraction

orevious scor * * & * Sk %k
10-?=3 20-?=18 100 -80 =7
10-?=10 2=20-7 100 - 60 =7
10-3="7 20-1=7 100-70="7
10-6="7 20-?=7 40 =100 -7
1=10-7 20-?=15 20=100-7
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Rapid recall of the 4 x table facts.

* * X * k&
1x4= /x4 = 32=4x7?
3x4= 4 x 8 = 36=4x7?
4 x 4 = 1M x4= 12=4x7?
2x4-= AQx 4 = 44 = 4 x ?
S5x4= 12 x4 = 28=4x7?
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— * * X * k&
8+ 4= 32+ 4= 52+ 4 ="
20 + 4 = 36 + 4 = 80+4="7
12 + 4 = 44 + 4 = 88 +4 =7
40 + 4 = 36 + 4 =
24 + 4 = 48 ~ 4 =
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— * * X * & Xk
Tx3= /x3= 33=3x7?
3x3= 3x8= 36=3x?
4 x 3 = 11 x3= 12=3x?
2x3= Qx 3 = 15=3x?
3xb= 12x 3 = 21=3x7?
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3+3= 21 +3 = 36 +3="7
9+ 3= 24 + 3 = 39+3="
12 + 3 = 18 +3= 33+3="
6+3= 27 + 3 =
15+3= 30 + 3 =




Maths Challenge Set 3 - Yellow

Rapid recall of the 6 x table facts.

£ 60 seconds * *x || KKk *
Previous score 1x b = 7 x b6 = 12 =3 x7?
3xb6= 6bx8= 66 =3 x"7?

4 x 6= 11 x6= 54 =3 x7?

2x6= Qx 6 = 36 =3x7?

5x6= 12 x 6 = 48 =3 x ?
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Rapid recall of the 6 division facts.
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Previous score 12+ 6 = 54 + 6 = 84 + b =
b+ b= 42 + 6 = 72+ 6=
18 + 6 = 48 + 6 = 78 + 6=
24+ 6= 60 + 6 =
30+ 6= b6 + b =
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Previous score 1x8= 7x8= 56 =8x?

4 x 8= 11 x8 = 72=8x"7?

2x8= 10x8 = 64 =8 x?

8x3= AQx 8 = 88 =8x7

5x8= 12 x8 = 32=8x7
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* * * & %
Previous score
16 + 8 = 48 = 8 = ?+8=5
8 + 8= 64 - 6 = ?+8=28
32+ 6= 72 + 8 = +8=11
40 = 8 = 88 =+ 8 =
24 = 8 = 96 =~ 8 =



